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5 (1) lOg“m n= lOg“o] a+kt lOg“m 2 1.1a | AG Allow flog 9%
This 1s of form y =mx+c [with log,, » as y and 7 as £l 14
x| )
2]
5 | (i) Reasonable line of best fit drawn (by eye) B1 l.la [With09<¢<12
Suitable method leading to @ value eg use of intercept fMa}’ llls oy
leading to 0.9 < loga < 1.2 M1 2.2a C?Iigoz?u‘;fc e
So 7.4 < a <1585 given points
Suitable method leading to & value eg F indi;g gr?dicn; ;)f line
klog,, 2 = gradient ~ 0,33 M1 1.1 or sub'n of 7 and log »
kinrange O<k<I.25andainrange 7.4 <@ <1585 | Al | 2.2a I*gradicnt of
exactly 1/3 used
[4] k =1.10730936...
5 | (iii) 500000=10x2"" M1 3.4 | Correct substitution
1.17log2 =10g 50000
=142 Al 1.1 | Value of 7 (FT their @ and k) For k= 1.10730936..
t=141s 1/3/18 M1 3.4 | Translation into date tS:M'l _
ame answer
Al
[4] -
So 1/4/18 3.2a | Rounding up







